3 - Synthetic Division per1.notebook

October 21, 2019

work stapled to the back :)

sk for me to check.

Oct 25-4:15 PM

P. 270

11) d 13) b 34) 3, multiplicity of 1
1, multiplicity of 1

P. 283

2) a) 6 b) 6 c) 5

4)a)10 b) 10 o9

6) a) 4 b) 4 c) 3

7)d 8) a 9) f 10) ¢

13) x-int: (0,0) (-2,0)

y-int: (0,0) tangent at (0,0) end behavior: y=-x} S

tangent at (2,0) end behavior: y=

20) x-int: (0,0) (3,0) y-int: (0, 0) tangent at (O,
21) x-int: (2, ’(—3,0) y-int: (0,-24)
n

-3, multiplicity of 1
-1, multiplicity of 1

1) b 12) e

0) end behavior: y = x’

Oct 19-8:03 PM
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P. 270

11) d 13) b

P. 283

2)a)6 b)6
@a) 10 b) 10

6) a4 b)4

7) d 8) a

34) 3, multiplicity of 1
1, multiplicity of 1

-3, multiplicity of 1
-1, multiplicity of 1

34) Fexe)= yq-/ox"-:-f
9 s o) = (XD (x -D
£ox) = (KX -3 (i
c) 9 ..L- Lv\-—
c) 3 —; .‘
- '
9) f 100c 1% 12) e

13) x-int: (0,0) (-2,0)
20) x-int: (0, 0) (3, 0)
21) x-int: (2,08 (-3,0)

y-int: (0,0) tangent at (0,0) end behavior: y—j’t\,

y-int: (0, 0)
y-int: (0,-24)

tangent at (0, 0) end behavior: y = x>
tangent at (2,0) end behavior; y=

13

2.

21.

Y¥x)

(L

Oct 19-8:03 PM

Synthetic

Division

Oct 19-8:00 PM
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Long Division:

g3
I_f_ﬁL""_Lﬂ =
X=5 | 3xT+4x =130

Fost
2
_Gé—15) 4 &
lax -1
- (iax =95 c
€3 =6

fxﬂ-f‘473'+ox°+4x+1)r(x+.1)
(3+dv-wy = (x-9)

Synthetic Division:

X X

A, A, &, Coctss.
)i_m.)j&qm_ (Poducts
O, Sum,

Suemy = y izmj

3 4 -l

li s 95

3 19 ]83=d7em‘4&4
)(o 83

IxHA Y Hes

Oct 19-8:13 PM

Leave space for all coefficients

1. (x*+ 2x2-5x-6) + (x-2)

2|1 &> ¢ o
, 2 3 b fuds
, L/ Z ‘O=F€M:dr\éq
XX su/é

[Froc 2 |

2. (x4=3x2+ 6) + (x+ 1)
] O -3 O 6 (df>

N

S Y
==
(

| Il B - X Z‘/';/?m‘qu

Yo ¥~ X %

Oct 19-8:15 PM
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3. [rys+ 4yt +3y=+ 2y) -

[y +2) 4, [x2+1)

)
v

+[x+1)
oy O> 20 o\

1390063
-)3003 718 lonird

T'Q&” ¥y - -4 +3

ap

T2

Oct 19-8:15 PM

Using synthetic division, determine whether the numbers are zeros of the polynomial function.

5.

—_—
—

-3,1 f(x) = x4+4x3+ 2x° - 4x -3

—¢f -3
\L 3-31 3 3
)

._’ ~'1_ W 3/5 a_ 2EdD

| ¢ Yoo Ao = (Kk2) A ;
I yw(epron is =4 N {

Wsﬂ)}c 220 7

Oct 18-1:20 PM
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Homework:
pg 291:
12, 16, 19, 32, 34

Quiz THURSDAY No Calc

Oct 19-8:16 PM

Oct 23-5:07 PM
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